

St. Louis County, Minnesota



Date of Report: 4/27/2025 3:00:50 AM

Baraal ID-			General D	etails					
Parcel ID:	450-00	10-04610							
Document:		xt - 01314991							
Document Date	e: 06/20/2	017							
		Leg	gal Descripti	on Details					
Plat Name:	MIDW								
Sec	ction	Township	I	Range	Lo	t	Block		
;	30	49		15	-		-		
Description: NE 1/4 OF SW 1/4 EX RY R OF W									
			Taxpayer D	etails					
Faxpayer Nam	e BUFFA	LO VALLEY HOLDING	GS LLC						
and Address:	2590 0	USS ROAD							
	PROC	OR MN 55810							
			Owner De	tails					
Owner Name	BUFFA	LO VALLEY HOLDING							
		Paya	able 2025 Ta	x Summary					
	20.	25 - Net Tax			\$10,300.0	)			
	20	25 - Special Assessme	Assessments \$0.00						
	20	25 - Total Tax &	Special Asse	essments	\$10,300.0	0			
		Curren	t Tax Due (a	s of 4/26/2025	)				
	Due May 15		Due Octo	ber 15		Total Due			
2025 - 1st Ha	alf Tax \$5	150.00 2025 - 2	2025 - 2nd Half Tax \$5,150.00			2025 - 1st Half Tax Due \$			
2025 - 1st Ha	alf Tax Paid	\$0.00 2025 - 21	2025 - 2nd Half Tax Paid \$0			2025 - 2nd Half Tax Due			
2025 - 1st Ha	alf Due \$5	150.00 2025 - 2	2025 - 2nd Half Due \$5,150.00		0.00 2025 -				
2020 13111			Parcel De				\$10,300.00		
Property Addre	ess: -		Farcer De	lalls					
School District									
Tax Increment	District: -								
. an morement	esteader: -								
		Assessme	nt Details (20	025 Payable 2	026)				
			Bldg	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
Property/Home	Homestead Status	Land EMV	EMV				Capacity		
Property/Home Class Code (Legend)	Status	EMV	EMV	1		\$0	-		
Property/Home Class Code		Land EMV \$1,013,500 \$41,000	EMV \$935,200 \$0	\$1,948,700 \$41,000	\$0 \$0	\$0 \$0	-		



St. Louis County, Minnesota



#### Date of Report: 4/27/2025 3:00:50 AM

	Land Details								
Dee	ded Acres:	34.13							
	erfront:	-							
	er Front Feet:	0.00							
	er Code & Desc:	-							
	Code & Desc:	_							
	er Code & Desc:								
	Width:	0.00							
	Depth:	0.00							
The	dimensions shown are no	ot guaranteed to be s	frmPlatStatPopl	Up.aspx. If th	nere are any questio	ns, please email PropertyTa	ax@stlouiscountymn.gov.		
			Improvem	nent 1 Det	ails (BANQUE	-)			
	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	CLUBHOUSE	0	6,61	2	6,612	-	CLB - CLUBHOUSE		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	58	114	6,612	FLOATING S	SLAB		
	DK	1	16	18	288	POST ON GR	OUND		
	OP	1	36	40	1,440	POST ON GR	OUND		
	OP	1	48	58	2,784	POST ON GR	OUND		
			Impro	vement 2	Details (PB)				
1	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	MATERIALS STORAGE	0	1,864		1,864	-	MC - MATL CLSD		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	0	0	1,864	POST ON GR	OUND		
	ι		Improveme	ent 3 Deta	ails (TRUCK TR	1)			
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	-, Basement Finish	Style Code & Desc.		
'	MATERIALS	0	336		336	Buschient i mish	MC - MATL CLSD		
	STORAGE	0		<u> </u>	000				
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	8	42	336	POST ON GR	OUND		
			Improveme	ent 4 Deta	ils (CONTAINE	R)			
1	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	TORAGE BUILDING	0	160	C	160	-	-		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	8	20	160	POST ON GR			
			Improvomo	ont 5 Doto					
	mprovement Type	Year Built	Main Flo		iils (CONTAINE Gross Area Ft <sup>2</sup>	R) Basement Finish	Style Code & Desc.		
	TORAGE BUILDING	0	304		304	-	-		
	Segment	Story	Width	Length		Foundati	on		
	BAS			38	304	POST ON GR			
		•							
		Year Built	Improveme Main Flo		iils (CONTAINE Gross Area Ft <sup>2</sup>	•	Style Code & Doce		
						Basement Finish	Style Code & Desc.		
		0	320		320	-	-		
	Segment	Story	Width	Length		Foundation			
	BAS	1	8	40	320	POST ON GR	UUND		







		Improvem	ent 7 Det	ails (CONTAINE	R)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
STORAGE BUILDING 0		32	320 320		-	-		
Segment	Story	Width Length		Area	Foundati	on		
BAS	1	8	40	320	POST ON GR	OUND		
L		Improvom	ont 9 Dot	ails (CONTAINE	:D)	,		
	Voor Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	rovement TypeYear BuiltMain Floor Ft 2RAGE BUILDING0320			320	basement rimsn	Style Code & Desc		
	0		•		-	-		
<b>U</b>	Segment Story Width Length Area				Foundation POST ON GROUND			
BAS	1	8	40	320		OUND		
		-		ails (CONTAINE	•			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	32	0	320	-	-		
Segment	Story	Width	Length	n Area	Foundati	-		
BAS	1	8	40	320	POST ON GR	OUND		
		Improveme	ent 10 Det	tails (CONTAINI	ER)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	32	0	320	-	-		
Segment	Story	Width Lengt		Area	Foundati	on		
BAS	1	8	40	320	POST ON GR	OUND		
ι		Improveme	nt 11 Det	ails (B/N CONE	YS)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	34		345	-	-		
Segment	Story	Width	Length		Foundati	on		
BAS	1	15	23	345	POST ON GR	-		
	I	mnroveme	nt 12 Det	ails (GREEN SH				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	12		120				
Segment	Story	Width	Length	-	Foundati	on		
BAS	1	10	12	120	POST ON GR			
			ant 42 D		D)			
Income and Trues	Veen Duilt			etails (JOB TRL		Chula Carla & Daar		
Improvement Type	Year Built		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	24		240	-	-		
Segment	Story	Width	Length		Foundation	-		
BAS	1	8	30	240	POST ON GR	OUND		
		-		ails (WOOD SH	ED)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
MATERIALS STORAGE	0	74	8	748	-	MO - MATL OPEN		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	14	22	308	POST ON GR	OUND		
BAS	1	20	22	440	POST ON GR			
<u>.</u>		Improveme	nt 15 Det	ails (WOOD SH	ED)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
improvement Type					Busement I IIISII	otyle obde & Dest		



St. Louis County, Minnesota



Date of Report: 4/27/2025 3:00:50 AM

MATERIALS STORAGE	0	56	3	56	-	MO - MATL OPEN	
Segment Story		Width Length		Area	Foundat	ion	
BAS 1		4	14	56	56 POST ON GROUNE		
		mproveme	nt 16 Det	ails (WOOD SHI	ED)		
Improvement Type Year Built		Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Dese	
MATERIALS STORAGE	0	56	3	56	-	MO - MATL OPEN	
Segment	Story	Width	ith Length Area		Foundation		
BAS	1	4	14	56	POST ON GF	ROUND	
		Improveme	ent 17 Det	tails (SILVER TF	RL)		
Improvement Type	nt Type Year Built Main Floor F		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc	
MATERIALS STORAGE			6	176	-	MC - MATL CLSD	
Segment Story		Width Length		Area	Foundat	ion	
BAS 1		8 22		176	POST ON GF	ROUND	
		Improvem	nent 18 D	etails (PARKING	6)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
PARKING LOT 2024		17,8	90	17,890	-	A - ASPHALT	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	17,890	-		
	l	mproveme	nt 19 Det	ails (WOOD SHI	ED)		
Improvement Type Year Built		Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		<b>Basement Finish</b>	Style Code & Dese	
STORAGE BUILDING	0	12	120 120				
Segment	Segment Story		Width Length Area		Foundation		
BAS	1	10	12	120	POST ON GROUND		
	I	mproveme	nt 20 Det	ails (WOOD SHI	ED)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Dese	
STORAGE BUILDING	0	20	)	20	-		
Segment Story		Width	Width Length Area		Foundation		
BAS	1	4	5	20	POST ON GF	ROUND	
	Sale	s Reported	to the St	. Louis County	Auditor		
	eported.	•					







Date of Report: 4/27/2025 3:00:50 AM

		A	ssessment Histo	ory			
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	233	\$66,100	\$323,300	\$389,400	\$0	\$0	-
2024 Payable 2025	111	\$60,300	\$0	\$60,300	\$0	\$0	-
	Total	\$126,400	\$323,300	\$449,700	\$0	\$0	8,288.00
	233	\$64,900	\$302,700	\$367,600	\$0	\$0	-
2023 Payable 2024	111	\$56,400	\$0	\$56,400	\$0	\$0	-
	Total	\$121,300	\$302,700	\$424,000	\$0	\$0	7,792.00
	233	\$1,900	\$279,300	\$281,200	\$0	\$0	-
	111	\$48,300	\$0	\$48,300	\$0	\$0	-
2022 Payable 2023	232	\$65,600	\$1,900	\$67,500	\$0	\$0	-
	Total	\$115,800	\$281,200	\$397,000	\$0	\$0	6,032.00
	233	\$1,800	\$217,000	\$218,800	\$0	\$0	-
	111	\$45,500	\$0	\$45,500	\$0	\$0	-
2021 Payable 2022	232	\$64,600	\$1,800	\$66,400	\$0	\$0	-
	Total	\$111,900	\$218,800	\$330,700	\$0	\$0	4,745.00
			Tax Detail Histor	у			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Build MV		l Taxable MV
2024	\$10,104.00	\$0.00	\$10,104.00	\$121,300	\$302,700		\$424,000
2023	\$7,644.00	\$0.00	\$7,644.00	\$115,800	\$281,200		\$397,000
2022	\$6,776.00	\$0.00	\$6,776.00	\$111,900	\$218,800		\$330,700

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.